[image: image1.jpg]BUSGR 510: HW 2: Due Monday October 27th

1. Download the file Starz.xls from Blackboard, and also Memo 1. Answer
the questions in memo 1 - you will need to do your work in the excel
spreadsheet as well as provide a typed page of relevant explanations, and
submit both to me. Remember I am your boss, so you need to do a good
job with the written presentation. To estimate the demand curve you
need to perform a regression using excel. Open excel, go to tools, under
tools go to data analysis and you should be able to see regression under
that. If you dont see a data analysis option under tools, you will need to
perform an add in. Under tools go to add ins and check analysis tool pack,
click OK. Now under tools you should be able to see data analysis. Once
you have this, in data analysis go to regression, this will open up a box -
under input y range, put (right click and highlight) in the price column
including the header, under input x range put in the quantity(subscribers)
column including the header, check labels, confidence level 95%, name a
worksheet ply and click OK. you should see the results - the constant is the
intercept term of your demand equation, the coefficient with subscribers
is your slope. Use this to calculate elasticities in excel. Answer all the
questions in the memo.

2. Suppose a firm’s demand curve is given by P = 120-0.5Q. Find the (value
of) price elasticity of demand (point elasticity) for the demand curve when
the price is $100. Is demand elastic or inelastic?



[image: image2.jpg]3. The following is a list of four projects that Capital Corporation must
choose from for the coming year:

Project Project Price

A 700,000
B 670,000
o] 184,000
D 273,000

Annual Net Inflows
118,861

109,039

32,549

48,305

(a) Given a uniform rate of interest of 9% and a uniform life of the
projects of 10 years each, calculate the NPVs of each Project (To
calculate NPV, calculate the Present Value of a 10 year annuity, and
subtract the project price. The formula for the present value factor
of an annuity is given below where r is the rate of interest and n is the
number of years. To get the present value of the stream of annuities
multiply the PVF by the amount you get each year.)
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(b) Should we choose Projects A, C, D or Projects A, B, D. Explain
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To: Pricing Manager, Region 1
From: Regional Manager, Region 1 Cable System
Re: Profits from STARZ

We recently added the STARZ Network to our premium cable tier. Currently, 852 of our
basic service subscribers purchase this service at our current price of $10.50 per month.
As you know, our current contributions from STARZ are not as high as we expected. I
would like you to evaluate our current price to see if we might be able to raise or lower it
to enhance the contributions of STARZ to our revenues.

(Hint; Estimate the demand curve to get the slope and find the price elasticity of demand
for all prices, and tell me where price is elastic and where price is inelastic and explain
the connection of elasticity with revenues.)

In an earlier study of the feasibility of adding STARZ, the marketing department
obtained the attached data on the demand and costs for this channel in our Region 1
service area. In addition to the fixed administrative costs, there is a variable cost (license
fee) of $5.49 per customer. Please use these data to provide your recommendation about
whether we should increase or decrease prices (from the $10.50 we are charging now) to
inctease total profits. I am particularly interested in (1) an estimate of our profit-
maximizing price, and (2) an estimate of how much our monthly profit will increase if we
adjust price to your recommended level.

Hint: Calculate the total costs, total revenue and provide the profits for all prices. Find
the profit maximizing price, and tell me how much our profits will increase if we move to
the profit maximizing price.)

Attachment: Starz.xls
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Subscribers

Other

Costs
$5.00 1493 $1,200.00
$5.50 1500 $1,200.00]
$6.00 1350 $1,200.00)
$6.50 1224 $1,200.00
$7.00 1220 $1,200.00
$7.50 1210 $1,200.00)
$8.00 1205 $1,200.00,
$8.50 1212 $1,200.00)
$9.00 1234 $1,200.00
$9.50 1104 $1,200.00

$10.00 936 $1,200.00
$10.50 887 $1,200.00
$11.00 843 $1,200.00,
$11.50 823 $1,200.00
$12.00 750 $1,200.00
$12.50 648 $1,200.00
$13.00 488 $1,200.00
$13.50 249 $1,200.00
$14.00 249 $1,200.00
$14.50 203 $1,200.00
$15.00 178 $1,200.00
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